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Read the following passage and answer the questions given below:

Human beings are prone to become absorbed in themselves, unable to be interested in what they see and hear or in anything outside their own skins. This is a great misfortune, since it entails at
best boredom and at worst melancholia; it is also a fatal barrier to usefulness, except in very exceptional cases. Vitality promotes interest in the outside world; it also promotes the power of hard
work. Moreover, it is a safeguard against envy, because it makes one’s own existence pleasant. As envy is one of the great sources of human misery, this is a very important merit in vitality.

Complete the following statement by selecting the most suitable option from those provided below:-
Vitality is commended in the passage particularly because ---------

envy is a great source of human misery and there is merit in vitality
by making one’s existence pleasant, it guards against envy and prevents misery
it promotes interest in the outside world and also hard work

it is a safeguard against envy because it makes one’s own existence pleasant
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Read the following passage and answer the questions given below:

Human beings are prone to become absorbed in themselves, unable to be interested in what they see and hear or in anything outside their own skins. This is a great misfortune, since it entails at
best boredom and at worst melancholia; it is also a fatal barrier to usefulness, except in very exceptional cases. Vitality promotes interest in the outside world; it also promotes the power of hard
work. Moreover, it is a safeguard against envy, because it makes one’s own existence pleasant. As envy is one of the great sources of human misery, this is a very important merit in vitality.

From the alternative given below, select the one that comes closest to the description of “a great misfortune” in the passage?

that human beings are prone to become absorbed in themselves, able to be interested only in their own skins
that human beings are prone to become absorbed in themselves, unable to be interested in their own skins.
self-absorbed human beings do not see and hear or show interest in anything

that utter self-absorption in human beings leads to disinterest in anything beyond themselves
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Read the following passage and answer the questions given below:

Human beings are prone to become absorbed in themselves, unable to be interested in what they see and hear or in anything outside their own skins. This is a great misfortune, since it entails at
best boredom and at worst melancholia; it is also a fatal barrier to usefulness, except in very exceptional cases. Vitality promotes interest in the outside world; it also promotes the power of hard
work. Moreover, it is a safeguard against envy, because it makes one’s own existence pleasant. As envy is one of the great sources of human misery, this is a very important merit in vitality.

Being excessively absorbed in oneself is considered to be “a great misfortune” because it
causes boredom at best and at worst melancholia

is also a fatal barrier to usefulness except in very exceptional cases

causes boredom as also melancholy and most often severely obstructs utility

avoids boredom and melancholy as well as rarely encourages usefulness

C
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Read the following passage and answer the questions given below:

Human beings are prone to become absorbed in themselves, unable to be interested in what they see and hear or in anything outside their own skins. This is a great misfortune, since it entails at
best boredom and at worst melancholia; it is also a fatal barrier to usefulness, except in very exceptional cases. Vitality promotes interest in the outside world; it also promotes the power of hard
work. Moreover, it is a safeguard against envy, because it makes one’s own existence pleasant. As envy is one of the great sources of human misery, this is a very important merit in vitality.

From the options given below, find out an odd alternative provided as the synonym for the term ‘melancholia’

deep sadness
depression
discouragement

self-pity

C
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Read the following passage and answer the questions given below:

Human beings are prone to become absorbed in themselves, unable to be interested in what they see and hear or in anything outside their own skins. This is a great misfortune, since it entails at
best boredom and at worst melancholia; it is also a fatal barrier to usefulness, except in very exceptional cases. Vitality promotes interest in the outside world; it also promotes the power of hard
work. Moreover, it is a safeguard against envy, because it makes one’s own existence pleasant. As envy is one of the great sources of human misery, this is a very important merit in vitality.

Identify from the terms given below the one which is an adjective
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boredom
fatal
envy

power
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Read the following passage and answer the questions given below:

Refining motivation and relinquishing attachments allow wiser choices. Ethical living and transforming emotions reduce the clouding effect of anger, guilt and fear. This is crucial. As the Torah
points out, “wisdom will not enter a deceitful soul.” Concentration and clear perception sharpen awareness and recognize skilful choices and actions. The net result is a mindless burdened by the
past, less crowded by craving, more focussed and clear, and able to penetrate deeply and understand profoundly. The mind becomes an agile instrument for developing wisdom. This
development starts with a crucial recognition.

The term ‘the Torah’ in the passage refers to
the Hebrew Bible

a sacred text of Judaism

both the above

neither of the above

Read the following passage and answer the questions given below:

Refining motivation and relinquishing attachments allow wiser choices. Ethical living and transforming emotions reduce the clouding effect of anger, guilt and fear. This is crucial. As the Torah
points out, “wisdom will not enter a deceitful soul.” Concentration and clear perception sharpen awareness and recognize skilful choices and actions. The net result is a mindless burdened by the
past, less crowded by craving, more focussed and clear, and able to penetrate deeply and understand profoundly. The mind becomes an agile instrument for developing wisdom. This
development starts with a crucial recognition.

According to the passage, “refining motivation and relinquishing attachments” allows us the freedom to
be open to many options

make any choices

exercise our options

be prudent in choosing
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Read the following passage and answer the questions given below:

Refining motivation and relinquishing attachments allow wiser choices. Ethical living and transforming emotions reduce the clouding effect of anger, guilt and fear. This is crucial. As the Torah
points out, “wisdom will not enter a deceitful soul.” Concentration and clear perception sharpen awareness and recognize skilful choices and actions. The net result is a mindless burdened by the
past, less crowded by craving, more focussed and clear, and able to penetrate deeply and understand profoundly. The mind becomes an agile instrument for developing wisdom. This
development starts with a crucial recognition.

The phrase “clouding effects” in the passage implies
grey atmosphere

gloomy outcome

dull result

transparent fallout
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Read the following passage and answer the questions given below:

Refining motivation and relinquishing attachments allow wiser choices. Ethical living and transforming emotions reduce the clouding effect of anger, guilt and fear. This is crucial. As the Torah
points out, “wisdom will not enter a deceitful soul.” Concentration and clear perception sharpen awareness and recognize skilful choices and actions. The net result is a mindless burdened by the
past, less crowded by craving, more focussed and clear, and able to penetrate deeply and understand profoundly. The mind becomes an agile instrument for developing wisdom. This
development starts with a crucial recognition.

According to the passage the clouding effect of anger, guilt and fear is reduced by-------—--—-- ethical living and transforming emotions
morally upright living and a positive change in emotions

ethical living and convoluted emotions

morally depraved living and transferred emotions

ethical propriety and emotional alteration

A
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Read the following passage and answer the questions given below:

Refining motivation and relinquishing attachments allow wiser choices. Ethical living and transforming emotions reduce the clouding effect of anger, guilt and fear. This is crucial. As the Torah
points out, “wisdom will not enter a deceitful soul.” Concentration and clear perception sharpen awareness and recognize skilful choices and actions. The net result is a mindless burdened by the
past, less crowded by craving, more focussed and clear, and able to penetrate deeply and understand profoundly. The mind becomes an agile instrument for developing wisdom. This
development starts with a crucial recognition.

Identify from the options given below a suitable synonym for the phrase ‘agile instrument’ in the sense used in the passage
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slow moving tool
sharp utensil
blunt implement

nimble device

Correct Answer D

Marks 1

Question Description

You have to assume that the four statements are true regardless of whether they are commonly known statements or not and then choose the conclusion (s) that logically follows these
statements.

Statements:

1. Some orange is yellow

2. Some yellow are green

3. All green is blue

4. No blue is black

Conclusions:

1. No black is green.

2. Some yellow is blue.

3. Some black is orange.

4. No black is orange.

Choose the conclusion(s) that following the statements.

Only 1 and 2
s Either 3 or 4
Only 1 & Either 3 or 4

None of the Above

Correct Answer A

Marks 1

Question Description

In the following question, a capitalised pair of words is given followed by five pairs of words. Select from choices the pair which exhibits the same relationship as the capitalised pair of words and
mark its number as your answer.

MINUTE : HOUR

Drop : Ocean

People : Crowd

Child : Children

Kid : Goat

Correct Answer D

Marks 1

Question Description

Find the missing number.

1 2 3
11 7 6
120 45 ?

A 23
s 25
¢ 27
° 29
Correct Answer c

Marks 1

Question Description Unlike other retail outlets, where items are purchased in any number of units the customer wants, in super - markets items aregrouped in bulk packages. This bulk buying offers savings to the

customer. The option to buy at wholesale prices by buying in bulk makes super - markets a practical choice for budget - conscious consumers.
Which of the following is an assumption necessary to the author’s argument?

A Super - markets often have great buying power and lower overhead costs, so they can offer a greater variety of products than regular retail outlets.
B Super - markets are often more conveniently located and have better parking facilities.
The emergence of super- markets has caused many small retail stores to close down and thus eliminate competition.

The financial savings from purchasing bulk packages may outweigh the inconvenience of being unable to purchase in any number of units that suits the customers” needs.

Correct Answer D

Marks 1

Question Description

Which one will replace the question mark ?

Ay | g E.

G3 IS 7

Me | Qg | Qua

Lo
° Kis
¢ l15
D Kg
Correct Answer D

Marks 1

Question Description

In the following question, four jumbled words are given. Rearrange them and identify the word, which is the “Odd Man”. Mark its option given below as your answer:

rualbo
rework
locoie

gaamner



Correct Answer D

Marks 1

Question Description

Statement: Population increase coupled with depleting resources is going to be the scenario of many developing countries in days to come.
Conclusions:
I. The population of developing countries will not continue to increase in the future.

II. It will be very difficult for the governments of developing countries to provide their people a decent quality of life.

Only conclusion | follows
Only conclusion Il follows
Either | or Il follows

Neither | nor Il follows

Correct Answer B

Marks 1

Question Description

The distance from A to B is 60 km. Partha and Narayan start from A at the same time and move towards B. Partha takes four hours more than Narayan to reach B. Moreover, Partha reaches the

midpoint of A and B two hours before Narayan reaches B. The speed of Partha, in km per hour, is-------- ?
A 4 km
& 3 km
¢ 6 km
° 5km
Correct Answer o

Marks 1

Question Description

In the following questions, four capitalised words followed by four choices are given. One of the choices is associated with the four main words. Identify the word and mark its letter as your
answer.
CAST FALL GRADE POUR

Down
B Up
First

Low

Correct Answer A

Marks 1

Question Description

For the word given on the top of the table, match the dictionary definitions given in the left hand column (A,B,C,D) with their corresponding usage given in the right hand column (EFGH). Out of
the four choices given below the table, identify the one that has all definitions and usage correctly matched and mark its choice as your answer

Wear

A | Pass the time tediously E | Two nights without sleep will
wear you out.
B | To have something such as|F | Our living room carpet has

clothes, shoes or jewellery on worn in many places.
your body.

C | To make someone feel|G | The day wore on as we waited
extremely tired. ftor news.

D | Damage sustained from |H | Why don’t you wear the black

continuous use. dress to tonight's party? ;
A AG,BF,CE,DG
& AG,BF,CF,DH
¢ AG,BH,CF,DG
° AG,BH,CE,DF
Correct Answer D
Marks 1
Question Description LN, K0, 0P, 1LQ,
A \Y
8 R
¢ \%
° H
Correct Answer D

Marks 1

Question Description

Today is Monday. After 61 days, it will be:
Wednesday

Saturday

Tuesday

Thursday

Correct Answer B

Marks 1

Question Description Which Word Does Not Belong with the Others
A VDU

Speakers

Plotter

Jovstick



Correct Answer D

Marks 1

Question Description

A jar contains a mixture of 175 ml water and 700 ml alcohol. Gopal takes out 10% of the mixture and substitutes it by water of the same amount. The process is repeated once again. The

percentage of water in the mixture is nOW-----------?
A 254
s 20.5
¢ 35.2
° 30.3
Correct Answer [+
Marks 1
% Question Descrption What will be the day of the week 15" August, 20107
A Sunday
& Monday
¢ Tuesday
° Friday
Correct Answer A

Marks 1

Question Description

For the word given on the top of the table, match the dictionary definitions given in the left hand column (A,B,C,D) with their corresponding usage given in the right hand column (EFGH). Out of
the four choices given below the table, identify the one that has all definitions and usage correctly matched and mark its choice as your answer.

Watch

A | tolook or follow observantly | E | Can yen watch the children for

just an hour tonight?
B | tolock after or take care F | My watch has stopped, could I

borrow yours, please?

C | a small clock that you wear |G | I told you to always be on the

on your wrist or carry in your watch for pick pockets and
pocket petty thieves,
D | to be alert, to be looking H | Do you want to join in or just
sit and watch the game?
A AE,BG,CH,DF
& AE,BH,CF,DG
¢ AH,BE,CG,DG
° AH,BE,CF,DG

Correct Answer D

Marks 1

Question Description

In the following question, fours statements are given. Three of them are related in some way. Identify the “Odd man” and mark its letter as your answer.

From time immemorial women have a fascination for gold.
Platinum is supposed to be more precious than gold.
According to the recent budget two wheelers have become cheaper.

Diamond is supposed to be the king of all gemstones.

Correct Answer c

Marks 1

Question Description

Which of the following word cannot be formed from PROGNOSTICATION

RONTGEN
& ROGATION
¢ SPITOON
° START
Correct Answer A

Marks 1

Question Description

In each of the following number series, a wrong number is given. Find out the wrong number.

50 51 47 56 42 65 29
A 51
® 47
¢ 56
° 42
Correct Answer o

Marks 1

30 Question Description

In each of the following questions two rows of numbers are given. The resultant number in each row is to be worked out separately based on the following rules and the questions below the
rows of numbers are to be answered. The operations of numbers progress from left to right.

Rules:

aIf an odd number is followed by a two digit even number then they are to be added.

v.If an odd number is followed by a two digit odd number then the second number is to be subtracted from the first number.
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Question Description

1t an even number 1s tollowed by a number which 1s a pertect square ot a number then the second number 1s to be divided by the tirst number.

oIf an even number is followed by a two digit even number then he first number is to be multiplied by the second number.

13114
171312

If the resultant of the first set of numbers is multiplied by the resultant of the second set of numbers, what will be the outcome?

48
96
69

75

The increase in the number of reality shows on television channels bolsters the contention that channels owners are more interestedin boosting their revenues by pandering to voyeuristic
tendencies of viewers.
The premise behind the above argument is that

Reality shows on television channels are a recent phenomenon.
Everything that channel broadcasts should be educational.
Reality shows on television appeal to the basic instincts of viewers.

Reality shows make more money than other types of programs.

Complete the next number in the given number series?

2156 102 160 231 316

416
415
414

413

From the options given below, choose the one that represents the correct water image of E8t4e¢9 C

(1) 381420 (2) EGThERD
(3)3give6C (4) EglteBC

Statement :
Some pearls are jewels.
Some Jewels are ornaments.

Conclusion :

|. Some jewels are pearls.

Il. Some ornaments are jewels.
Only Conclusion | follows
Either | or Il follows.

Neither | nor Il follows.

Both | and Il follows

is a relation such that if one thing has that relation to a second, then the second cannot have that relation to the first.
Symmetrical
Transitive
Reflexive

Asymmetrical

Points A and B are 150 km apart. Cars 1 and 2 travel from A to B, but car 2 starts from A when car1 is already 20 km away from A. Each car travels at a speed of 100 kmph for the first 50 km, at
50 kmph for the next 50 km, and at 25 kmph for the last 50 km. The distance, in km, between car 2 and B when car 1 reaches B is------------- ?

4 km
3 km

6 km
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42 Question Description

5km

Choose the word that is essential part of the word
-antique’

rarity
artifact
aged

Prehistoric

Statement: Any student who does not behave properly while in the school brings a bad name to himself and also to the school.
Conclusions:
1. Such a student should be removed from the school.

Il .Stricter discipline does not improve the behaviour of the students
Only conclusion I follows

Only conclusion II follows

Either I or IT follows

Neither I nor II follows

In question below is given a statement followed by three courses of action numbered (A), (B) and (C). A course of action is a step or administrative decision to be taken for improvement, follow-
up or further action in regard to the problem, policy, etc. On the basis of the information given in the statement, you have to assume everything in the statement to be true, then assume
everything in the statement to be true, then assume everything in the statement to be true, then courses of action logically follow( s) for pursuing.

Statements:

Avery large number of devotees are expected to visit the shrine located on the busy city road on Tuesday which happens to be a very auspicious day.

Courses of action:
 The traffic department should block all the roads leading to the shrine for vehicles' for Tuesday.

&. The Govt. should deploy armed forces in the area to tackle the huge gathering.

c. The traffic department should regulate vehicular movement in the area by restricting the flow of vehicles in only one direction for certain periods on Tuesday.

Only (A) and (B)
Only (B) and (C)
Only (A) and (C)

AlL, (A), (B) and (C)

B

1

Three positions of a cube are shown below. What will come opposite to face containing '5'?

What will come at the place of question mark ?
6, 16, 31,51, 76, ?

96
103
106

113

The following questions are based on five words given below:

MET
ARK
MOB
SKI

URN

(The new words formed after performing the mentioned operations may or may not necessarily be meaningful English word)
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Comprehension

IT the given words were arranged In the order as they would appear In a dictionary from left to rignt, wnich of the toliowing will be second from the rignt?
MET
ARK
MOB

SKI

Here are some words translated from an artificial language.

aptaose means first base

eptaose means second base
lartabuk means ballpark

Which word could mean "baseball"?

buklarta
oseepta
bukose

oselarta

In a certain language, if WRONG is coded as GNORW then how will RIGHT be coded:
HIRGT
SJHIU
GHIRT

None of the above

Three of the following four are alike in a certain way and hence form a group. Which is the one that does not belong to that group?
Watchman

Retailer

Abattoir

Boatman

What will come in place of the question mark (?) in the given number series?
47,23,11,5,2,?

0.2

0.4

0.5

Eight persons M through T are standing in such a way that O is 20 m apart from N towards West, N is 30 m South with respect to M. M is 40 m towards West with respect to Q. P is 50 m towards
South with respect to Q. R is 15 m apart from S towards North. T is 20 m towards East with respect to S. R is 40 m towards West with respect to P.

If one more person U is standing towards South-West with respect to P, then in which direction is T,standing with respect to U?

South-West

North-East

North-West

Cannot be determined

Eight persons M through T are standing in such a way that O is 20 m apart from N towards West, N is 30 m South with respect to M. M is 40 m towards West with respect to Q. P is 50 m towards
South with respect to Q. R is 15 m apart from S towards North. T is 20 m towards East with respect to S. R is 40 m towards West with respect to P.

What is the direction of O with respect to S?

North-West

North

West

Cannot be determined

Questions are based on a set of conditions. In answering some of the questions, it may be useful to draw a rough diagram. Choose the response that most accurately and completely answers
each question.

Seven bands were scheduled to perform during the week long music festival at XLRI. The festival began on a Monday evening and ended on the Sunday evening.

Each day only one band performed. Each band performed only once. The organizing committee had the task of scheduling the performances of the seven bands - Cactus, Axis, Enigma, Boom,
Fish, Dhoom and Bodhi Tree.

The festival schedule followed the following conditions:
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Comprehension

The performance of Bodhi Tree, the home band of XLRI, did not precede the performance of any other band.
Among the visiting bands three were rock bands and the other three were fusion bands.

All three bands of the same genre were not allowed to perform consecutively.

Boom, which was a rock band, refused to perform immediately before or after Fish.

Meet, who was a lead vocalist with a rock band, refused to perform after Angelina.

Angelina, the only female lead vocalist in the music fest besides Bony, was with the band Enigma.

Angelina refused to perform after Thursday citing personal reasons.

Ali, who was the lead vocalist of a rock band, was not with the band Dhoom, and did not perform on Saturday.
Sid, the lead vocalist of the rock band Cactus, could perform only on Monday.

Rupam, the only male among the lead vocalists of the fusion bands, was with Fish and performed on Wednesday.

None of the bands performed in absence of their lead vocalist.

All of the following statements can be true except:

If Meet was the lead vocalist of Axis then Ali was the lead vocalist of Boom.

If Meet was the lead vocalist of Dhoom then Bony was the lead vocalist of Axis.
If Bony was the lead vocalist of Dhoom then Meet was the lead vocalist of Axis.

If Bony was the lead vocalist of Axis then Meet was the lead vocalist of Boom.

D

1

Questions are based on a set of conditions. In answering some of the questions, it may be useful to draw a rough diagram. Choose the response that most accurately and completely answers

each question.

Seven bands were scheduled to perform during the week long music festival at XLRI. The festival began on a Monday evening and ended on the Sunday evening.

Each day only one band performed. Each band performed only once. The organizing committee had the task of scheduling the performances of the seven bands - Cactus, Axis, Enigma, Boom,
Fish, Dhoom and Bodhi Tree.

The festival schedule followed the following conditions:

The performance of Bodhi Tree, the home band of XLRI, did not precede the performance of any other band.
Among the visiting bands three were rock bands and the other three were fusion bands.

All three bands of the same genre were not allowed to perform consecutively.

Boom, which was a rock band, refused to perform immediately before or after Fish.

Meet, who was a lead vocalist with a rock band, refused to perform after Angelina.

Angelina, the only female lead vocalist in the music fest besides Bony, was with the band Enigma.

Angelina refused to perform after Thursday citing personal reasons.

Ali, who was the lead vocalist of a rock band, was not with the band Dhoom, and did not perform on Saturday.
Sid, the lead vocalist of the rock band Cactus, could perform only on Monday.

Rupam, the only male among the lead vocalists of the fusion bands, was with Fish and performed on Wednesday.

None of the bands performed in absence of their lead vocalist.

Which of the following must be true?

Ali performed on Saturday and Enigma performed on Thursday.
Dhoom performed on Thursday and Angelina performed on Tuesday.
Boom performed on Friday and Meet performed on Tuesday.

Ali performed on Friday and Enigma performed on Tuesday.

[

Questions are based on a set of conditions. In answering some of the questions, it may be useful to draw a rough diagram. Choose the response that most accurately and completely answers

each question.

Seven bands were scheduled to perform during the week long music festival at XLRI. The festival began on a Monday evening and ended on the Sunday evening.

Each day only one band performed. Each band performed only once. The organizing committee had the task of scheduling the performances of the seven bands - Cactus, Axis, Enigma, Boom,
Fish, Dhoom and Bodhi Tree.

The festival schedule followed the following conditions:



The performance of Bodhi Tree, the home band of XLRI, did not precede the performance of any other band.
Among the visiting bands three were rock bands and the other three were fusion bands.

All three bands of the same genre were not allowed to perform consecutively.

Boom, which was a rock band, refused to perform immediately before or after Fish.

Meet, who was a lead vocalist with a rock band, refused to perform after Angelina.

Angelina, the only female lead vocalist in the music fest besides Bony, was with the band Enigma.

Angelina refused to perform after Thursday citing personal reasons.

Ali, who was the lead vocalist of a rock band, was not with the band Dhoom, and did not perform on Saturday.
Sid, the lead vocalist of the rock band Cactus, could perform only on Monday.

Rupam, the only male among the lead vocalists of the fusion bands, was with Fish and performed on Wednesday.
None of the bands performed in absence of their lead vocalist.

Question Description Which of the following is a plausible performance sequence?

Cactus, Enigma, Fish, Dhoom, Boom, Axis
Cactus, Dhoom, Fish, Boom, Enigma, Axis
Cactus, Axis, Fish, Boom, Enigma, Dhoom

Cactus, Axis, Fish, Enigma, Boom, Dhoom

Correct Answer D

Marks 1

Comprehension Study the following information carefully and answer the questions given below:
. Ten persons are sitting in two parallel rows containing five persons each, in such a way that there is equal distance between adjacent persons.

iInrow-1,J, K, L, M and N are seated (not necessarily in the same order) and all of them are facing south. In row-2, V, W, X, Y and Z are seated (not necessarily in the same order) and all of
them are facing north.

ii. Therefore in the given seating arrangement each member seated in row faces another member of the other row.
. Z sits third to the right of W.

vV sits second to the left of Z.

v. The person facing V sits to the immediate right of K.

«i. Only one person sits between K and M. ] is not an immediate neighbour of K.

vi. Only two persons sit between J and L. Neither K nor J faces Y.

Question Description

Who amongst the following is facing N ?

A Y

e \4

¢ X

° W
Correct Answer B

Marks 1

Comprenension Study the following information carefully and answer the questions given below:
. Ten persons are sitting in two parallel rows containing five persons each, in such a way that there is equal distance between adjacent persons.

iInrow-1,], K, L, M and N are seated (not necessarily in the same order) and all of them are facing south. In row-2, V, W, X, Y and Z are seated (not necessarily in the same order) and all of
them are facing north.

i. Therefore in the given seating arrangement each member seated in row faces another member of the other row.
i.Z sits third to the right of W.

«.V sits second to the left of Z.

. The person facing V sits to the immediate right of K.

+i.Only one person sits between K and M. J is not an immediate neighbour of K.

vi. Only two persons sit between J and L. Neither K nor J faces Y.

Question Description

Which of the following statements is true regarding M?
M faces one of the immediate neighbours of X.

K is one of the immediate neighbours of M.

None of the given statements is true

L sits to the immediate right of M.

Correct Answer D

Marks 1

54 Comprehension

Study the following information carefully and answer the questions given below:
. Ten persons are sitting in two parallel rows containing five persons each, in such a way that there is equal distance between adjacent persons.

iInrow-1,]J, K, L, M and N are seated (not necessarily in the same order) and all of them are facing south. In row-2, V, W, X, Y and Z are seated (not necessarily in the same order) and all of
them are facing north.

i. Therefore in the given seating arrangement each member seated in row faces another member of the other row.
w.Z sits third to the right of W.

v. V sits second to the left of Z.
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v. The person facing V sits to the immediate right of K.
«i. Only one person sits between K and M. J is not an immediate neighbour of K.

vi. Only two persons sit between J and L. Neither K nor J faces Y.

Question Description

Who amongst the following is facing X?

A K
B

L
¢ M
° J
Correct Answer A

Marks 1

Comprenension Study the following information carefully and answer the questions given below:
. Ten persons are sitting in two parallel rows containing five persons each, in such a way that there is equal distance between adjacent persons.

iInrow-1,J, K, L, M and N are seated (not necessarily in the same order) and all of them are facing south. In row-2, V, W, X, Y and Z are seated (not necessarily in the same order) and all of
them are facing north.

i. Therefore in the given seating arrangement each member seated in row faces another member of the other row.
. Z sits third to the right of W.

«.V sits second to the left of Z.

vi. The person facing V sits to the immediate right of K.

+i.Only one person sits between K and M. J is not an immediate neighbour of K.

vi. Only two persons sit between J and L. Neither K nor J faces Y.

Question Description

What is the position of Z with respect to Y ?
A Third to the right

8 Second to the right

Immediate left

Immediate right

Correct Answer c

Marks 1
Comprehension Study the following information carefully and answer the questions given below :
In a certain code language,

‘paint your house red’ is written as “ri fm ew cu’

“gate of red colour’ is written as ‘Ib ew op sa’

‘house of your choice’ is written as ‘sa cu ri nk’

“gate with red paint’ is written ‘gy op ew fm’

(All codes are two letter codes only)

Question Description

What is the code for ‘red” in the given code language?
Other than those given as options

sa

gfr

ew

Correct Answer D

Marks 1
Comprehension Study the following information carefully and answer the questions given below :
In a certain code language,

‘paint your house red’ is written as “ri fm ew cu’

“gate of red colour’ is written as ‘Ib ew op sa’

‘house of your choice’ is written as ‘sa cu ri nk’

“gate with red paint’ is written ‘gy op ew fm’

(All codes are two letter codes only)

Question Description

What maybe the possible code for ‘gate crash” in the given code language?

jxop
& ri op
¢ Ib jx
° op Ib
Correct Answer A
Marks 1
Comprehension Study the following information carefully and answer the questions given below :

In a certain code language,

‘paint your house red’ is written as “ri fm ew cu’
“gate of red colour’ is written as ‘Ib ew op sa’
‘house of your choice’ is written as ‘sa cu ri nk’
“gate with red paint’ is written ‘gy op ew fm’
(All codes are two letter codes only)

Question Description T tha aivran rnda lanatinaa wihat daae tha cada ‘mid/ ckand fan?



Correct Answer

Marks

Comprehension

Question Description

Correct Answer

Marks

Comprehension

Question Description

Correct Answer

Marks

L1 LIS BIVEL LUUE 1Al UagE, Wial UWUES LIS LUUE LU SLaiiu 1UL:
paint

either “of” or ‘colour’

choice

either “house” or ‘your’

Study the following information carefully and answer the questions given below :
In a certain code language,

‘paint your house red’ is written as “ri fm ew cu’

“gate of red colour’ is written as ‘Ib ew op sa’

‘house of your choice’ is written as ‘sa cu ri nk’

“gate with red paint’ is written ‘gy op ew fm’

(All codes are two letter codes only)

What is the code for “paint’ in the given code language?

8y

fm

op

Study the following information carefully and answer the questions given below :
In a certain code language,

‘paint your house red’ is written as “ri fm ew cu’

“gate of red colour’ is written as ‘Ib ew op sa’

‘house of your choice’ is written as ‘sa cu ri nk’

“gate with red paint’ is written ‘gy op ew fm’

(All codes are two letter codes only)

If ‘colour with canvas’ is coded as ‘hv Ib gy’ in the given code language, then what is the code for ‘canvas of choice’?

hv nk ew

ri sa nk

nk hv sa

sa ew hv



